Subject: Re: DHS Burundi 1987
Posted by Trevor-DHS on Thu, 08 Aug 2024 18:01:01 GMT

View Forum Message <> Reply to Message

Hi Jacob

A couple of problems with your code: 1) caseid in the women's data is 15 characters, whereas
hwhhid is just 12 characters for the household ID. You need to drop the woman's line number part
of caseid which is the last 3 characters. 2) midx is the variable that links from the KR file to the
birth history, not to the household schedule. B16 is the variable that links to the household
schedule.

| think the following code should do what you need:

* Sort the children's recode data and then merge

use "${kr2003}", clear

gen hwhhid = substr(caseid,1,12)

clonevar hwline = b16

sort hwhhid hwline

merge m:1 hwhhid hwline using "${hw2003}"

and then just use those cases with _merge==3 (it looks like there are 6 cases that do not match
properly, with _merge==2)

Cheers. Trevor
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